# ON THE INTEGRITY OF CERTAIN INFINITE SERIES 

## Richard André-Jeannin

IUT GEA, Route de Romain, 54400 Longwy, France
e-mail: ajeannin@iut-longwy.u-nancy.fr
(Submitted July 1996-Final Revision March 1997)

## 1. INTRODUCTION

We consider the second-order recurring relation

$$
\begin{equation*}
W_{0}=a, W_{1}=b, W_{n}=P W_{n-1}-Q W_{n-2} \quad(n \geq 2), \tag{1.1}
\end{equation*}
$$

where $a, b, P$, and $Q$ are integers, with $P>0, Q \neq 0$, and $\Delta=P^{2}-4 Q>0$. Particular cases of $\left\{W_{n}\right\}$ are the sequences $\left\{U_{n}\right\}=\left\{U_{n}(P, Q)\right\}$ of Fibonacci and $\left\{V_{n}\right\}=\left\{V_{n}(P, Q)\right\}$ of Lucas defined by $U_{0}=0, U_{1}=1$ and $V_{0}=2, V_{1}=P$, respectively. It is well known that

$$
\begin{equation*}
U_{n}=\frac{\alpha^{n}-\beta^{n}}{\alpha-\beta} \quad \text { and } \quad V_{n}=\alpha^{n}+\beta^{n}, \tag{1.2}
\end{equation*}
$$

where

$$
\begin{equation*}
\alpha=\frac{P+\sqrt{\Delta}}{2} \text { and } \beta=\frac{P-\sqrt{\Delta}}{2} \text {, } \tag{1.3}
\end{equation*}
$$

so that $\alpha+\beta=P$ and $\alpha \beta=Q$.
Since $P>0$, notice that $\alpha>1, \alpha>|\beta|$, so that $U_{n}>0(n \geq 1), V_{n}>0(n \geq 0)$.
Recently, several papers ([2], [3], and [6]) have been devoted to the study of the infinite sum

$$
\begin{equation*}
S_{U}(x)=S_{U}(x ; P, Q)=\sum_{n=0}^{\infty} \frac{U_{n}}{x^{n}} . \tag{1.4}
\end{equation*}
$$

The main known results can be summarized as follows.

## Theorem 1:

(i) If $Q=-1$, the rational values of $x=r / s$ for which $S_{U}(x)$ is an integer are given by

$$
\begin{equation*}
x=\frac{U_{2 n+1}}{U_{2 n}}(n=1,2, \ldots), \tag{1.5}
\end{equation*}
$$

and the corresponding value of $S_{U}$ is given by

$$
\begin{equation*}
S_{U}(x)=U_{2 n} U_{2 n+1} . \tag{1.6}
\end{equation*}
$$

(ii) If $Q=1$ and $P \geq 3$, the rational values of $x=r / s$ for which $S_{U}(x)$ is an integer are given by

$$
\begin{equation*}
x=\frac{U_{n+1}}{U_{n}}(n=1,2, \ldots), \tag{1.7}
\end{equation*}
$$

and the corresponding value of $S_{U}$ is given by

$$
\begin{equation*}
S_{U}(x)=U_{n} U_{n+1} . \tag{1.8}
\end{equation*}
$$

The aim of this paper is to extend the above result to the infinite sum

$$
\begin{equation*}
S_{V}(x)=S_{V}(x ; P, Q)=\sum_{n=0}^{\infty} \frac{V_{n}}{x^{n}}, \text { where } Q= \pm 1 \text {. } \tag{1.9}
\end{equation*}
$$

Using the Binet forms (1.2) and the geometric series formula, we get the closed-form expression

$$
\begin{equation*}
S_{V}(x)=\frac{x(2 x-P)}{x^{2}-P x+Q}, \quad|x|>\alpha \tag{1.10}
\end{equation*}
$$

Remark 1.1: We have assumed that $P>0$. Actually, it is well known that

$$
U_{n}(-P, Q)=(-1)^{n-1} U_{n}(P, Q) \quad \text { and } \quad V_{n}(-P, Q)=(-1)^{n} V_{n}(P, Q)
$$

From this, we get

$$
S_{U}(x ;-P, Q)=-S_{U}(-x ; P, Q) \text { and } S_{V}(x ;-P, Q)=S_{V}(-x ; P, Q)
$$

Thus, the case $P<0$ cannot give really new results.
Remark 1.2: It is clear by (1.9) that $S_{V}(x)>V_{0}=2$ for $x>\alpha$, since $V_{n}>0$ for every $n \geq 0$.
In what follows, we shall make use of the well-known identities:

$$
\begin{align*}
& V_{n}+P U_{n}=2 U_{n+1}  \tag{1.11}\\
& \Delta U_{n}+P V_{n}=2 V_{n+1}  \tag{1.12}\\
& U_{2 n}=U_{n} V_{n}  \tag{1.13}\\
& V_{2 n}+2 Q^{n}=V_{n}^{2}  \tag{1.14}\\
& V_{2 n}-2 Q^{n}=\Delta U_{n}^{2}  \tag{1.15}\\
& V_{n}^{2}-\Delta U_{n}^{2}=4 Q^{n}  \tag{1.16}\\
& U_{2 n+1}=U_{n+1}^{2}-Q U_{n}^{2} \tag{1.17}
\end{align*}
$$

All of these identities can be proved by using the Binet forms (1.2).

## 2. MAIN RESULTS

Theorem 2: If $Q= \pm 1$, there do not exist negative rational values of $x$ such that $S_{V}(x)$ is an integer, except when $Q=-1$ and $P=1$. In this case, the only solution is given by $x=-2$, with $S_{V}(-2)=2$.

Remark 2.1: Since $V_{n}(1,-1)=L_{n}$ (the $n^{\text {th }}$ Lucas number), we see by Theorem 2 that

$$
\begin{equation*}
\sum_{n=0}^{\infty} \frac{(-1)^{n} L_{n}}{2^{n}}=2 \tag{2.1}
\end{equation*}
$$

Theorem 3: If $Q=-1$, the positive rational values of $x$ for which $S_{V}(x)$ is integral are given by

$$
\begin{equation*}
x=\frac{U_{2 n+1}}{U_{2 n}}(n=1,2, \ldots) \tag{2.2}
\end{equation*}
$$

and

$$
\begin{equation*}
x=\frac{V_{2 n+2}}{V_{2 n+1}}(n=0,1, \ldots) \tag{2.3}
\end{equation*}
$$

The corresponding values of $S_{V}(x)$ are given by

$$
\begin{equation*}
S_{V}\left(U_{2 n+1} / U_{2 n}\right)=U_{2 n+1} V_{2 n} \tag{2.4}
\end{equation*}
$$

and

$$
\begin{equation*}
S_{V}\left(V_{2 n+2} / V_{2 n+1}\right)=U_{2 n+1} V_{2 n+2} \tag{2.5}
\end{equation*}
$$

Theorem 4: If $Q=1$ and $P \geq 3$, the positive rational values of $x$ for which $S_{V}(x)$ is integral are given by

$$
\begin{equation*}
x=\frac{U_{n+1}}{U_{n}}(n=1,2, \ldots) \tag{2.6}
\end{equation*}
$$

and

$$
\begin{equation*}
x=\frac{X_{n+1}}{X_{n}}(n=0,1, \ldots), \tag{2.7}
\end{equation*}
$$

where $X_{n}=U_{n+1}+U_{n}$.
The corresponding values of $S_{V}(x)$ are given by

$$
\begin{equation*}
S_{V}\left(U_{n+1} / U_{n}\right)=U_{n+1} V_{n} \tag{2.8}
\end{equation*}
$$

and

$$
\begin{equation*}
S_{V}\left(X_{n+1} / X_{n}\right)=X_{n+1}\left(U_{n+1}-U_{n}\right) \tag{2.9}
\end{equation*}
$$

## 3. PROOF OF THEOREM 2

Consider the function $\phi$ defined by

$$
\begin{equation*}
\phi(x)=\frac{x(2 x-P)}{x^{2}-P x+Q}, x \neq \alpha \text { and } x \neq \beta . \tag{3.1}
\end{equation*}
$$

From (1.10) it is clear that $\phi(x)=S_{V}(x)$ when $|x|>\alpha$, and one can see immediately that

$$
\begin{equation*}
\lim _{x \rightarrow-\infty} \phi(x)=2 \text { and } \phi(-\alpha)=1+\frac{\sqrt{\Delta}}{2 P}>1 . \tag{3.2}
\end{equation*}
$$

Assuming first that $Q=1$, we see that $\phi$ is decreasing on ] $-\infty, \beta$ ] and thus on $]-\infty,-\alpha$ ] (recall that $-\alpha<\beta$, since $P>0$ ). By (3.2), it is clear that there does not exist a number $x<-\alpha$ with $\phi(x)$ an integer.

Assuming now that $Q=-1$, we see that $\phi$ is decreasing on $]-\infty, \gamma]$ with $\gamma=\frac{-2-\sqrt{\Delta}}{P}$, and it is not hard to prove that $\phi(\gamma)=1+\frac{2}{\sqrt{\Delta}}>1$. If $P \geq 2$, one verifies that $-\alpha<\gamma$, and the same conclusion follows. On the other hand, if $P=1$, we have $\gamma=-2-\sqrt{5}=-4.2 \ldots, \phi(\gamma)=1+\frac{2}{\sqrt{5}}=1.8 \ldots$, $-\alpha=-1.6 \ldots, \phi(-\alpha)=1+\frac{\sqrt{5}}{2}=2.1 \ldots$, and that $\phi$ is increasing on $[\gamma,-\alpha]$. Thus, 2 is the only integer value of $\phi$ within this interval, and it is immediate that $\phi(-1)=2$ This completes the proof.

To prove Theorems 3 and 4, we need some further mathematical tools. These will be discussed in Sections 4 and 6.

## 4. A PELL EQUATION

In this section we shall suppose that $Q= \pm 1$. Let $x=r / s>\alpha$, where $r$ and $s$ are positive integers with $\operatorname{gcd}(r, s)=1$. We see by (1.10) that

$$
\begin{equation*}
S_{V}(r / s)=r k \tag{4.1}
\end{equation*}
$$

where

$$
\begin{equation*}
k=\frac{(2 r-P s)}{r^{2}-P r s+Q s^{2}} . \tag{4.2}
\end{equation*}
$$

It is clear that $k>0$, since $S_{V}(r / s)>0$ by Remark 1.2. We also see that $\operatorname{gcd}\left(r, r^{2}-\operatorname{Prs}+\right.$ $\left.Q s^{2}\right)=1$, since $Q= \pm 1$ and $\operatorname{gcd}(r, s)=1$. From this fact, we see that $S_{V}(r / s)$ is an integer if and only if

$$
k=\frac{2 r-P s}{r^{2}-P r s+Q s^{2}}=\frac{4(2 r-P s)}{(2 r-P s)^{2}-\Delta s^{2}}
$$

is an integer. Putting $z=2 r-P s$ for notational convenience, we get the second-degree equation in the unknown $z$

$$
\begin{equation*}
\frac{4 z}{z^{2}-\Delta s^{2}}=k \tag{4.3}
\end{equation*}
$$

which can be written as

$$
\begin{equation*}
k z^{2}-4 z-k \Delta s^{2}=0 \tag{4.4}
\end{equation*}
$$

Notice that $z>s \sqrt{\Delta}>0$, since $r / s>\alpha=\frac{P}{2}+\frac{\sqrt{\Delta}}{2}$. The only positive root of (4.4) is given by

$$
\begin{equation*}
z=\frac{2+\sqrt{d}}{k} \tag{4.5}
\end{equation*}
$$

where $d=4+\Delta(k s)^{2}$. For $z$ to be an integer, the inequality

$$
\begin{equation*}
4+\Delta(k s)^{2}=y^{2} \quad(y=0,1, \ldots) \tag{4.6}
\end{equation*}
$$

must hold. Observing that $\Delta=P^{2} \pm 4$ is never a square, it follows by (1.16) and the theory of Pell equation (see, e.g., [5] and [7]) that the solutions of (4.6) in the unknown $y$ and $k s$ are given by

$$
\begin{equation*}
y=V_{2 n}, k s=U_{2 n}(n \geq 0) \text {, if } Q=-1, \tag{4.7}
\end{equation*}
$$

and by

$$
\begin{equation*}
y=V_{n}, k s=U_{n}(n \geq 0), \text { if } Q=1 . \tag{4.8}
\end{equation*}
$$

In our problem we can suppose that $n \geq 1$, since $k s>0$, and we have to consider the two cases ( $Q=1$ and $Q=-1$ ), separately.

## 5. PROOF OF THEOREM 3

In this section we suppose that $Q=-1$. Assuming that $S_{V}(r / s)$ is an integer, we see by (4.7) that $k s=U_{2 n}$ and $\sqrt{d}=y=V_{2 n}$ for $n \geq 1$. It follows by (4.5), (1.13), (1.14), and (1.15) that

$$
\begin{gather*}
z=s \frac{2+\sqrt{d}}{k s}=s \frac{2+V_{2 n}}{U_{2 n}}  \tag{5.1}\\
= \begin{cases}s \frac{V_{n}^{2}}{U_{2 n}}=s \frac{V_{n}}{U_{n}}, \quad n \geq 2 \text { even, } \\
s \frac{\Delta U_{n}^{2}}{U_{2 n}}=s \frac{\Delta U_{n}}{V_{n}}, & n \text { odd. }\end{cases} \tag{5.2}
\end{gather*}
$$

On the other hand, recalling that $z=2 r-P s$ and using (1.11) and (1.12), we see that

$$
r=\frac{z+P s}{2}= \begin{cases}s \frac{V_{n}+P U_{n}}{2 U_{n}}=s \frac{U_{n+1}}{U_{n}}, & n \geq 2 \text { even }  \tag{5.3}\\ s \frac{\Delta U_{n}+P V_{n}}{2 V_{n}}=s \frac{V_{n+1}}{V_{n}}, & n \text { odd }\end{cases}
$$

Finally, we get

$$
x=r / s=\left\{\begin{array}{ll}
\frac{U_{n+1}}{U_{n}}, & n \text { even and positive, } \\
\frac{V_{n+1}}{V_{n}}, & n \text { odd, }
\end{array} \quad[\text { cf. (2.2) and (2.3)]. }\right.
$$

To prove the second part of the theorem, notice first that $\frac{U_{n+1}}{U_{n}}>\alpha$ ( $n \geq 2$ even) and $\frac{V_{n+1}}{V_{n}}>\alpha$ ( $n$ odd), since $Q=-1$. From (4.1), we see that

$$
\begin{equation*}
S_{V}(r / s)=r k=\frac{r}{s} k s \tag{5.4}
\end{equation*}
$$

Putting $r / s=U_{n+1} / U_{n}(n \geq 2$ even) in (5.4) and using (4.7) and (1.13), we get

$$
S_{V}\left(U_{n+1} / U_{n}\right)=\frac{U_{n+1}}{U_{n}} U_{2 n}=U_{n+1} V_{n} \quad(n \geq 2 \text { even }) \quad[\text { cf. (2.4) }]
$$

Now, putting $r / s=V_{n+1} / V_{n}(n$ odd $)$ in (5.4), we obtain

$$
S_{V}\left(V_{n+1} / V_{n}\right)=\frac{V_{n+1}}{V_{n}} U_{2 n}=V_{n+1} U_{n} \quad(n \text { odd }) \quad[c \mathrm{cf} .(2.5)]
$$

This completes the proof of Theorem 3. For the proof of Theorem 4, we need some results on the Fibonacci and Lucas numbers with real subscripts. These will be discussed in Section 6.

## 6. FIBONACCI AND LUCAS FUNCTIONS

Several definitions of Fibonacci and Lucas numbers with real subscripts are available in the literature (see, e.g., [1] and [4]) for the case in which $P=-Q=1$.

Let us suppose here that $Q=1$ and $P \geq 3$. Thus, $\alpha$ and $\beta$ as defined by (1.3) are positive quantities and we can define, for every real number $x$, the real quantities

$$
\begin{equation*}
U_{x}=\frac{\alpha^{x}-\beta^{x}}{\alpha-\beta} \quad \text { and } \quad V_{x}=\alpha^{x}+\beta^{x} \tag{6.1}
\end{equation*}
$$

Using (6.1), the following identities can readily be found:

$$
\begin{align*}
& U_{x}=P U_{x-1}-U_{x-2} \text { and } V_{x}=P V_{x-1}-V_{x-2}  \tag{6.2}\\
& U_{x}=U_{x / 2} V_{x / 2}  \tag{6.3}\\
& V_{x}+2=V_{x / 2}^{2}  \tag{6.4}\\
& V_{x}+P U_{x}=2 U_{x+1}  \tag{6.5}\\
& U_{x+y}+U_{x-y}=U_{x} V_{y}, \text { for every } x \text { and every } y . \tag{6.6}
\end{align*}
$$

The sequences $Y_{n}=U_{n+1 / 2}$ will be of particular interest for our purposes. Putting $x=n+1 / 2$ and $y=1 / 2$ in (6.6), we get

$$
\begin{equation*}
Y_{n}=V_{1 / 2}^{-1} X_{n} \tag{6.7}
\end{equation*}
$$

where $X_{n}=U_{n+1}+U_{n}$, as specified in Theorem 4.

## 7. PROOF OF THEOREM 4

In this section we suppose that $Q=1$ and $P \geq 3$. Assuming by (4.8) that $k s=U_{n}$ and $\sqrt{d}=$ $y=V_{n}(n \geq 1)$, it follows by (6.3) and (6.4) that

$$
\begin{equation*}
z=s \frac{2+\sqrt{d}}{k s}=s \frac{2+V_{n}}{U_{n}}=s \frac{V_{n / 2}^{2}}{U_{n}}=s \frac{V_{n / 2}}{U_{n / 2}} \tag{6.8}
\end{equation*}
$$

Now by (6.5) we get

$$
\begin{equation*}
r=\frac{z+P s}{2}=s \frac{V_{n / 2}+P U_{n / 2}}{2 U_{n / 2}}=s \frac{U_{n / 2+1}}{U_{n / 2}} \tag{6.9}
\end{equation*}
$$

Hence, letting $n=2 m$ and $n=2 m+1$ in (6.9) and using (6.7) in the latter case, one obtains

$$
x=r / s=\left\{\begin{array}{l}
\frac{U_{m+1}}{U_{m}}, m>0, \\
\frac{Y_{m+1}}{Y_{m}}=\frac{X_{m+1}}{X_{m}}, m \geq 0,
\end{array} \quad[\text { cf. (2.6) and (2.7)]. }\right.
$$

As for the second part of the theorem, we see that $U_{m+1} / U_{m}>\alpha(m>0)$ and $X_{m+1} / X_{m}>\alpha$ ( $m \geq 0$ ), since $Q=1$. Putting $r / s=U_{m+1} / U_{m}$ in (5.4) and using (4.8) (with $n=2 m$ ), we get

$$
S_{V}\left(U_{m+1} / U_{m}\right)=\frac{U_{m+1}}{U_{m}} U_{2 m}=U_{m+1} V_{m} \quad[\text { cf. (2.8) }]
$$

Finally, from (4.8) (with $n=2 m+1$ ) and (1.17), we get

$$
\begin{aligned}
S_{v}\left(X_{m+1} / X_{m}\right) & =\frac{X_{m+1}}{X_{m}} U_{2 m+1}=\frac{X_{m+1}}{X_{m}}\left(U_{m+1}^{2}-U_{m}^{2}\right) \\
& =X_{m+1}\left(U_{m+1}-U_{m}\right) \quad[\text { cf. (2.9)] }
\end{aligned}
$$

and the proof is complete.
Concluding Remark: From Theorems 3 and 4, one can study the integrity of the infinite sum

$$
T_{k}(x)=\sum_{n=0}^{\infty} \frac{V_{k n}}{x^{n}}, \quad k>0
$$

This investigation might be the aim of a future work.

## ACKNOWLEDGMENT

The author wishes to thank the anonymous referee for his/her valuable suggestions which led to a substantial improvement of this paper.

## REFERENCES

1. R. André-Jeannin. "Generalized Complex Fibonacci and Lucas Functions." The Fibonacci Quarterly 29.1 (1991):13-18.
2. O. Brugia, A. Di Porto, \& P. Filipponi. "On Certain Fibonacci-Type Sums." Int. J. Math. Educ. Sci. Technol. 22.4 (1991):609-13.
3. P. Filipponi \& M. Bucci. "On the Integrity of Certain Fibonacci Sums." The Fibonacci Quarterly 32.3 (1994):245-52.
4. P. Filipponi. "Real Fibonacci and Lucas Numbers with Real Subscripts." The Fibonacci Quarterly 31.4 (1993):307-13.
5. C. T. Long \& J. H. Jordan. "A Limited Arithmetic on Simple Continued Fractions." The Fibonacci Quarterly 5.2 (1967):113-28.
6. R. S. Melham \& A. G. Shannon. "On Reciprocal Sums of Chebychev Related Sequences." The Fibonacci Quarterly 33.3 (1995):194-202.
7. W. Sierpinski. Elementary Theory of Numbers. Warsaw: Panstwowe Wydawnictwo Naukowe, 1964.
AMS Classification Numbers: 11B39, 26C15, 30B10
$\% \%$

## Author and Title Index

The AUTHOR, TITLE, KEY-WORD, ELEMENTARY PROBLEMS, and ADVANCED PROBLEMS indices for the first 30 volumes of The Fibonacci Quarterly have been completed by Dr. Charles K. Cook. Publication of the completed indices is on a 3.5 -inch, high density disk. The price for a copyrighted version of the disk will be $\$ 40.00$ plus postage for nonsubscribers, while subscribers to The Fibonacci Quarterly need only pay $\$ 20.00$ plus postage. For additional information, or to order a disk copy of the indices, write to:

```
PROFESSOR CHARLES K. COOK
DEPARTMENT OF MATHEMATICS
UNIVERSITY OF SOUTH CAROLINA AT SUMTER
1 LOUISE CIRCLE
SUMTER, SC 29150
```

The indices have been compiled using wordperfect. Should you wish to order a copy of the indices for another wordprocessor or for a non-compatible IBM machine, please explain your situation to Dr. Cook when you place your order and he will try to accommodate you. DO NOT SEND PAYMENT WITH YOUR ORDER. You will be billed for the indices and postage by Dr. Cook when he sends you the disk. A star is used in the indices to indicate unsolved problems. Furthermore, Dr. Cook is working on a subJect index and will also be classifying all articles by use of the AMS Classification Scheme. Those who purchase the indices will be given one free update of all indices when the subject index and the AMS Classification of all articles published in The Fibonacci Quarterly are completed.

